Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

g
= O ¢
g N

D s . s malbibll IALLLE LN LA |

g 1 original
© —_— DQM mkFlt TTNEWHS
o —_— D M_mkFit_TTNEWHS-dpdq
= D M_mkFit— TTNEWHS -chi2

1078 1072

1
TP min AR

10

[ Efficiency vs dr (track,jet) |
8 0%
0 0.18F
= E
o
z 0.16F
20.14F
> o
20.12F
0.1F
0.08F
0.06F
0.04F
0.02F

Vs

efticie

Ratio
N

0.95 . S . SR
107 1072 107t
AR(TP, jet)

Efficiency vs pu
0.8

0.7

0.6

efficiency vs PU

0.5

0.4

0.3

0.2

0.1

Ratio

093630 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


